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0. 18K MEBD. 1G 1.6~8.2 ggl~170 1.5~3
0, 3TEY MBO. 37 1.4~T 1 Q00~~2000 3~6
0. 55K MED. 55 1.4~T 1 000~~2000 4~
0. TSEY MED. 75 1. 4~7 1 000-~-2000 6~12
1. 1EW ME1.1 1. 4~T 1 000~~2000 Q~18
1. SER MEL1. S 1.4~T 1 000~=2000 l2~24
2. 2Ky NEZ. 2 1. 4~T 1 000-~=Z2000 18~~36
3. OER NE3. O 1.4~T 1 000~=2000 2448
4. QKN ME4. O 1.4~T 1 000-~-2000 Je~~64
5. SER MES. S 1.4~T7 1 000~~2000 45~90
T.SER MET. S 1.4~T 1 000~=2000 589~118&
gl g I 2?2 rimin E LK
2.5 352 ~63 3.5~T.4
HBD . 18-¢ J.9 2bb—31. 9 4.7 ~=10
S 176 ~34 T—15
0. 181w
g 110 ~21 10~20
dp
11 80~—15.5 14~—28
nl=1400r fmin
HED . 18-2¢ 13. 3 bb~— 13 17T ~34
16. 6 93 — 10 21 ~42
20 dq~28.5 25 ~30
2.5 400 ~—20 7.3~—15
MB).3T-c 3.3 S00 ~&0 9.5~20
] 200 ~—40 15 ~30
0.3 ler
2 129 ~23 20 ~40
dp
11 90 —13 28 ~356
nl= 1400z fmin
BE).37-2¢ 13. 3 T~ 13 od ~68
16. 6 Bl ~—12 42 =34
20 ol -~ 10 o9~ 106
2.9 400 ~380 15~—29
HB).T5-¢ - S00 ~&l) 19~33
S 200 ~—40 50 ~60
0.7 5ler
g 125 ~25 40 —g80
dp
) 11 90 —18 54 =108
n1= 1400z fmin
BE) . T5-2¢ 13. 3 Ta~—15 68— 136
16. 6 60 -—12 24~ 168
20 50~ 10 96 ~ 140
B|D(B) | E x i3 H I M [Mi| H ([D|D1] F T | KE|VYC|VF YL (| VE |VRIL| VS | b | £ 1 % ¥
MED. 18E5 (23 11 S0l 112.5 |e4.5 | 7O | T2 |11S5|60]| 95 |9 |M&6| 140 | 3.5 (4671|111 | 78 (110|110 85 | 4| - [|12.5 | 200 | 120
MED. 3TES (30 14 40| 110 T4 80 | 90 130 (TT(110( 9 [ME| 160 |3.5|53|T1|123| 90 (100|110 85 |5 | MB 16 | 227 | 141
MED. TSES (40 19 58| 139 65.5 (100 | 98 | 165 |64 | 130 |11 |MG| 200 | 3.5 |60|7T9| 140 | 107 |120 (120|110 | 6 | M6 | 21.5 | 268 | 160
MEL. 1BS |40 24 = 147 95 ag |207 (165 |- (130 |11 | - |200 |3.5| - |- (124|102 |150| - |110| & | M3 27 | 265|195
ME1.SBS |S0| 24 = 188 115 | 126 |241 | 165 | = (130 |11 | - |200 |3.5| - | - |144 (122|150 | - |110| 8 | M8 27 | 290 | 195
ME2.2B5 |60| 30 = 208 131 |150 |2TO | 165 | - (230 (15| - 1300 4 |- |-|1868|150|160| - |100 )| 8 | MG 33 | 320 | 215
MEZ. 0OBS |BO 30 = 208 131 |1S0 |2T0|285 | - (230 |15| - |300| 4 | -|-|188 (150|180 | - |100| 8 | M8 33 | 320 | 215
ME4. OBS  |BO a0 = 204G 131 | 150 | 270 | 265 | — (230 |15 - 300 | 4 |- |- |166 (150|160 | - |110| & | M3 J3 | 340 | 240
MES. SBS |70 5 = 244 131 |200)| = 300 |- (250 (19| -1350| 5 | =-|~-]| - |192 1194 | - |110|10|M1D] 38 |395| 275
MET.SBS |70 35 = 244 131 |200 | = |300| = (250 (19| = |13=0| S | =| =] = (192|194 | - |10D|10|MIO] 38 |435 |27




